My dear friends,

Sorry for the delay, but I’ve to attend some social compromises and couldn’t attend the forums yesterday night. Now I have more time available and try to put my thoughts in written for you (painfully, as english is not my native language and I do not master it).
I’m afraid I’m going to delude some of you, but here my thinking:
· The Goodman’s cart open air experiment, never repeated or at least with results never made public again, was done in a not controlled environment, so it cannot be considered valid to prove the DDWFTTW theory. Real wind over such a long distance and so close to the floor cannot be steady and unidirectional, the transmitted power to the wheels was not measured, the effect of the perturbed air by the car running alongside was not taken into consideration, etc, etc, so we cannot take conclusions at all. Goodman itself stated it was not possible.
· The treadmill test is NOT an equivalent of the open air test, because of the lack of equivalency between them. At the treadmill ALL power is applied to the wheels,  asuming this it is what happens at the open air test, which has not been proved at all. Also where the power is applied is vital to the experiment, as it is not interchangeable because of the not bidirectionality of loses (i.e. a propeller, other than the most simple, is not an inverted mill).
· An equivalent and better controlled test could be putting the Goodmasn’s cart over a NOT POWERED, very low friction and of an equivalent inertia (mass) to that of the cart treadmill, in a wind tunnel. I put here the challenge to anyone wanting to perform it. 
· It is said, by the DDWFTTW proponents, that the cart can go from downwind to upwind because there’s energy coming from the wheels to the mill, making it a propeller and not a mill. Well, in my opinion, this totally untrue except, perhaps, at a speed very close to the mean wind speed in an open air test, where the cart (and also mill blades’) inertia can take its part through small wind speed/direction variations, which for a very efficient mechanism could produce a fluctuation over and under the mean (down) wind speed. 

· The only available energy to move the cart is the one from the wind, which moves the blades of the mill, which moves the cart and the belt/wheels. The reaction force at the wheels is a consequence of the energy of the wind being transmitted to them and cannot exist without it. 
· The total energy applied at the cart can never be greater than the one available from the wind acting on the mill and the structure of the cart. Putting apart the force due to drag, the cart takes most of its energy from the wind turning the mill, at ANY given moment. So, the closer we come to wind speed, the less energy we can take from it

· The trick with the wheels and belt thing is to increase the efficiency of the whole system, thus permitting the craft to come closer to the wind speed.  The cart without the wheels and the belt transmitting mechanism would move at an speed noticeable less than wind speed.  

· Of course the blades of the mill move in an apparent wind greater than the wind (like the sails of an iceboat), because of their spinning movement. That’s what allow them to use more energy from the wind that the one corresponding to just their projected area. When the cart approaches wind speed, the component of the real wind at the blades diminishes and the energy gotten from the wind diminishes. So the transmitted power to the wheels diminishes and eventually dissapears. Once there is not real wind component (V = W) or even before, when the profiles lose lift when the angle of attack is small, there is no more energy transmitted to the cart other than the one due to pure drag over its structure. Only inertia can counteract and allow for some forward movement for a while in the real world, allowing for the fluctuation mentioned above.
· If the cart could take enough energy from the wheels to make the mill become a propeller and ‘go upwind’, where does that energy come from?. Not to mention that we would need a device to invert the pitch of the rotor, of course. 
· Another way to look at the thing is to think about an ice craft with a mill over it going DDW. The small friction of the ice would also allow the craft to come very close to wind speed, but NEVER overpass it (except for the possible inertial fluctuations in the real world, as told before).

Well, it’s enough for today. My ‘real’ world, in the form of a family, is calling my dooor, asking for my attention. I will be happy to hear your comments, but please avoid bad tempered ad hominem attacks that are useful for nothing. Just criticise the ideas not the people behind them.
All the best. 
